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Which of the following is not a valid termination action for an extrusion rule?
 
 
A. Termination actions are not available for extrusion rules. 
B. S-TAP Terminate. 
C. Termination actions are available for extrusion rules, however these are executed by the
database management system and not Guardium. 
D. S-GATE Terminate. 
 

Answer: D

 

 

Which of the following steps must be taken before a custom table can be defined on the
Guardium appliance?
 
 
A. The Guardium API must be used to notify the engine that a custom table is going to be
defined. 
B. All other users of the Guardium user interface must be logged off since there can only
be one active session when the custom table is being defined. 
C. A test provided by Guardium must be run on the data server to make sure no malicious
data is found in the table to be queried. 
D. Data in the existing database must be verified to make sure that the different data types
are supported by Guardium's custom tables. 
 

Answer: D

 

 

What is the simplest definition of a Guardium domain?
 
 
A. A Guardium entity containing a series of attributes. 
B. Grouping of a set of tables and relationships between those tables providing a view of
the data that Guardium stores. 
C. A simple identification label to indicate ownership or control of a Guardium resource. 
D. A model of a Guardium system describing the different entities involved in the
environment and their relationships. 
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Answer: B

 

 

Which of the following problems is the Application User Translation feature designed to
help with?
 
 
A. The use of non-English parameter values in SQL statements issued by some
applications. 
B. The fact that there exists no easy way for the application server to communicate with
both Guardium and the data server concurrently. 
C. The inability to relate a database action to a specific application user when a pool of
database connections is used by an application. 
D. Translating an application's requests made to a data server so these are compatible
with all the database management systems that Guardium supports. 
 

Answer: C

 

 

Which of the following is TRUE about Guardium's entitlement reports?
 
 
A. Guardium includes a set of built-in entitlement report definitions for all supported
databases. 
B. Guardium does not offer standard built-in entitlement reports and the user must create
these reports based on their database specifications. 
C. Guardium includes Oracle entitlement reports as a standard feature, however reports for
all other database engines (ie. IBM DB2) must be manually created. 
D. Guardium's entitlement reporting requires a monthly subscription service. 
 

Answer: A

 

 

How is authentication and encryption implemented between collectors, aggregators and the
Central Policy Manager in a multi-tier Guardium environment?
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